MTH 277, Exam #1, Spring 2018 Name KET
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Instructions: Show all work. Give exact answers unless specifically aske
numbers should be stated in standard form, and all complex fractions §
show work, problems will be graded as “all or nothing” for the answer §
possible and any credit awarded for the work will not be available.

1. Useill = (4,2, —7),¥ = (2,—3,—1) to find the following. (4 pollhts each)
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2. Find the volume of the parallelepiped bounded by the vectof
(—4,0,—4). (5 points) '
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3. State the domain and range of the function f(x,y) =
(6 points)

— 4y? in appropriate notation.
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4. Find the equation of the plane perpendicular to the line x__—;
point (2, —3,1). (6 points)
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5. Identify the quadric surface z? — x? — 9’:}-— =1, and convert tfie equation to cylindrical and
spherical coordinates. (10 points)
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8. Consider u(t) = sec“ti+ e
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b. [u(t)dt
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c. Describe the continuity of #(t).
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9. Find the limits. (6 points each)
x242xy%+y?

a. lim =
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10. Identify which vector field goes with each graph. (4 points eafih)

a. F(x,y) = 2xyi+x%)
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11. Find the value of the line integral fc (x+ 4\/§)ds on the paf
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12. Find all first partial derivatives of £ (x,y, z) = z%y3 + zsin(
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13. Find the total differential of w = x2yz? + sin(yz). (7 points
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between (2,3) and (3,4). (10 points)
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